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Mr. Schlansky							Geometry

Coordinate Geometry/Quadrilateral Properties Regents Review
	
1. Determine whether the two lines represented by the equations [image: ] and [image: ] are parallel, perpendicular, or neither.  Justify your response.



[bookmark: _GoBack]

		2. What is the equation of a line passing through [image: ] and parallel to the line represented by the equation [image: ]?
	1)
	[image: ]

	2)
	[image: ]

	3)
	[image: ]

	4)
	[image: ]





3. What is the equation of a line passing through (4,-2) and perpendicular to the line represented by the equation [image: ]?






4. 
The line  is dilated by a scale factor of -3 and centered at the origin. Write an equation of the line that represents the image of the line after the dilation.






		5. Line [image: ]  is transformed by a dilation with a scale factor of 2 and centered at [image: ]. The line's image is
	1)
	[image: ]

	2)
	[image: ]

	3)
	[image: ]

	4)
	[image: ]



6. 

The line  is dilated by a scale factor of  and centered at the origin. Write an equation that represents the image of the line after the dilation.






7. 

The line  is dilated by a scale factor of  and centered at the origin. Write an equation that represents the image of the line after the dilation.






[image: ]		8. What are the coordinates of the point on the directed line segment from [image: ] to [image: ] that partitions the segment into a ratio of 3 to 2?
	1)
	[image: ]

	2)
	[image: ]

	3)
	[image: ]

	4)
	[image: ]


		










		9. What are the coordinates of the center of a circle whose equation is [image: ]?
	1)
	[image: ]

	2)
	[image: ]

	3)
	[image: ]

	4)
	[image: ]






		10. The equation [image: ] is equivalent to
	1)
	[image: ]

	2)
	[image: ]

	3)
	[image: ]

	4)
	[image: ]




		11. The equation of a circle is [image: ].  What are the coordinates of the center and the length of the radius of the circle?
	1)
	center [image: ] and radius 4

	2)
	center [image: ] and radius 4

	3)
	center [image: ] and radius 16

	4)
	center [image: ] and radius 16




		12. What are the coordinates of the center and length of the radius of the circle whose equation is [image: ]?
	1)
	[image: ] and 36

	2)
	[image: ] and 6

	3)
	[image: ] and 36

	4)
	[image: ] and 6




		13. If [image: ] is the equation of a circle, the length of the radius is
	1)
	25

	2)
	16

	3)
	5

	4)
	4




[image: ]		14. Directed line segment PT has endpoints whose 
		coordinates are [image: ] and [image: ].  Determine the 
		coordinates of point J that divides the segment in 
		the ratio 2 to 1.  










		15. The coordinates of the endpoints of [image: ] are [image: ] and [image: ].  Point P is on [image: ].  Determine and state the coordinates of point P, such that [image: ] is [image: ].
[image: ]


















16. The endpoints of [image: ] are [image: ] and [image: ].  Determine and state the coordinates of point E, if [image: ].
[image: ]
		 

















17. Which of the following is not true of all rectangles?
0. Consecutive sides are perpendicular
0. Opposite sides are parallel
0. Diagonals are perpendicular to each other
0. Diagonals bisect each other

18. Which of the following is true about rhombuses?
1) Consecutive sides are perpendicular
2) Opposite sides are congruent
3) Consecutive angles are congruent
4) Diagonals are congruent
	
		19. Isosceles trapezoid ABCD has diagonals [image: ] and [image: ].  If [image: ] and [image: ], what is the value of x?
	1)
	28
	3)
	3

	2)
	[image: ]
	4)
	[image: ]




[image: ]		20. In the diagram below of isosceles trapezoid DEFG, [image: ], [image: ], [image: ], [image: ], and [image: ].  Find the value of x.








		
		21. The diagram below shows isosceles trapezoid ABCD with [image: ] and [image: ].  If [image: ] and [image: ], find [image: ].
[image: ]






		22. Triangle HKL has vertices [image: ], [image: ], and [image: ].  The midpoint of [image: ] is M and the midpoint of [image: ] is N.  Determine and state the coordinates of points M and N.  Justify the statement: [image: ] is parallel to [image: ].  [The use of the set of axes below is optional.]
[image: ]












23. Graph the quadrilateral MATH: M(-2, -3) A(-1, -1) T(4, 2)   H(3, 0). Prove that MATH IS a parallelogram but is NOT a rectangle.
[image: ]


















		24. Given:	[image: ] with vertices [image: ], [image: ], and [image: ].  [image: ] has midpoint D, [image: ] has midpoint E, and [image: ] has midpoint F.
Prove:	ADEF is a parallelogram
[image: ]	ADEF is not a rhombus
[The use of the grid is optional.]






















25. The vertices of rectangle NRQW are N(-2,5), R(2,5), Q(2,-3), and W(-2,-3). If A is the midpoint , B is the midpoint of , C is the midpoint of , and D is the midpoint of , prove that ABCD is a parallelogram but not a rhombus. 
[image: ]

















		26. In the coordinate plane, the vertices of [image: ] are [image: ], [image: ], and [image: ].  Prove that [image: ] is a right triangle.  State the coordinates of point P such that quadrilateral RSTP is a rectangle.  Prove that your quadrilateral RSTP is a rectangle.  [The use of the set of axes below is optional.]

		[image: ]




		27. In the coordinate plane, the vertices of Triangle ABC are A(0,10) B(5,0) and C(8,4). Prove that Triangle ABC is a right triangle.  State the coordinates of point P such that quadrilateral ABCP is a rectangle.  Prove that your quadrilateral ABCP is a rectangle.  
		[image: ]


image6.png




image89.wmf
QW


oleObject8.bin

image90.wmf
WN


oleObject9.bin

image91.png




image92.png
R(6,-1)




image93.png
S(1,-4)




image94.png
7(-5,6)




image7.png




image8.png




image9.wmf
6

2

-

=

x

y


oleObject1.bin

image10.png




image11.png




image12.png




image13.png




image14.png




image15.wmf
2

2

1

-

=

x

y


oleObject2.bin

image16.wmf
2

5


oleObject3.bin

image17.wmf
x

y

4

=


oleObject4.bin

image18.wmf
2

1


oleObject5.bin

image19.png




image20.png
K(-5,-4)




image21.png
L(5,1)




image22.png
(-3,-3)




image23.png
(-1,-2)




image24.png




image25.png
(1,-1)




image26.png
> +y? —16x+ 6y + 53




image27.png
(-8,-3)




image28.png
(-8,3)




image29.png
(8,-3)




image30.png
(8,3)




image31.png
eyt

Ix+fy+3




image32.png
-1+ =





image33.png
-1 +(p+3)* =7




image34.png
x+12 +(p+3)° =7




image35.png
x+12+p+D =10




image36.png
oyl 16y =7




image37.png
(0,3)




image38.png
(0,-3)




image39.png
Xy bxey

23




image40.png




image1.png
2x+3





image41.png




image42.png
Xz yt

fiy-12=10




image43.png
P(-2,1)




image44.png




image45.png




image46.png
A(-6,-5)




image47.png
B(4,0)




image48.png




image49.png




image50.png
DEF




image2.png
y+x=16




image51.png




image52.png
F(16,14)




image53.png
DE-EF.





image54.png
AC




image55.png
BD




image56.png
Sx+13




image57.png




image58.png




image59.png




image60.png
2+ 5/ ax+ 2




image3.png




image61.png
DE || GF




image62.png




image63.png




image64.png




image65.png
GD =2x+5




image66.png
AB|| DC




image67.png




image68.png
m/BAD = 2x




image69.png
msBCD =3x+5




image70.png
mZBAD




image4.png
2x+1





image71.png
(2x)°

(3x + 5)9
D C




image72.png
H(=7,2)




image73.png




image74.png




image75.png
373




image76.png
LE




image77.png




image78.png
HE




image79.png




image80.png
MABC




image5.png




image81.png




image82.png




image83.png




image84.png
AB




image85.png
BC




image86.png
AC




image87.wmf
NR


oleObject6.bin

image88.wmf
RQ


oleObject7.bin

